
Functional analysis - part 29

Let     be a complex Banach space and               
             be a bounded linear operator.

not invertible

Finite-dimensional example:

are eigenvectors

Infinite-dimensional example:

Formally: For   with              , define:

is an eigenvector with eigenvalue

is an eigenvector with eigenvalue



Let be a number with                      but

e.g.

then

is injective

Show: is not surjective

Proof: Assume is surjective is bijective

bounded inverse
theorem

bounded

for a subsequence

Result:


